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Solve each equation. You don’t need to check your work, but you should, before you hand in the test.

S 1. —4Bn-2)+n=-11(n-1)
-12n FO Fh = =t L

—lln+ S a=t 1

- = -
I = =K 44
L B

o =317
No Sa /

[+
il
o 2. Sx+12=202xF7

Sxéefz=tx (Y
-2 = _.!2

j“y = \{“2&1“'2—-

- Hx ==Hx

- —-\_ﬁ_—-—

[»=2 |
w & ?25

g 3 2(x—8)+x=3(x—6)+2




20

MAT 099 Test 1 Page 2
Spring, 2010

For word problems, I expect to see you assign your variable(s) in words (Let x = ... ) and for you to give
the units (for instance, “in dollars™). — g/

third number is 100 more than the first
1pd the numbers.
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,_') 7. John bought an expensive book in a Pennsylvania bookstore for $30x . What’s the
price of the book before tax, if Pennsylvania sales tax is 6%? _
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4 8. Solve s =g(a+L) for L.

4 6. A second number is five times the first numb
number. If the sum of the three numbers is(306,
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é 9. Recall: The compound interest formula is 4 = P(l - L) , Where
n

A= amount in the account after ¢ years

P = principal or amount invested

¢t = time, in years

r = annual rate of interest

n = number of times compounded per year.

If a principal amount of $6,000 is invested in an account paying an annual percentage rate of 4%,
find the amount in the account after 4 years, if the account is compounded monthly.
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Solve. Write the final answer in interval notation.
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